51,

33.

54.

55.

13
PART-C
BOTANY

(Marks : 50)

[Marks : 100

Die Naturlichen Pflanzen Familien' is the basis for which classification?

'ﬁﬁaﬂ:ﬁ:;msﬂﬂ:&uﬁ.ﬁ-bagﬁtﬂmmm

Vel

(1) Bentham & Hooker

SomrSs SoBato nosh

(3) Linnaeus )
DR

In Hibiscus esculentis the placentation is of this type

DS Sy, Sodat & H Oy solmyiin aotnod

(1) Basal ) Axile (3)
e sodak

(9 + 1 Stamen condition is known as

(9) + 1550 500 Sa Do SErds

(1) Monadelphous (2)
Dspogs

./é? Diadelphous (4)

Bppals
In Fabaceae the standard petal is called as
FERET G ©3go 3@ F 0T e
(1) Alae (2) Lodicule (3)
o8 Lt
Cyathium inflorescence is'seen in this family
SciFRaio Fip JTyio S Dooned’ Sadiood

fﬁ:Ewmmﬂﬁﬂ (2)

afisndla

(3) Cucurbitaceae (4)
S80I

Engler & Prantl
Joih Ssbcs groed
Bessey

Bl

e

Parietal {4) Marginal

s

Polyadelphous
paroeady

Didynamous

v’f:} Vexillum

g

Sapotaceae

Convolvulaceas

Srguedh

[RTO.
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36.  In which of the following the sporophyte is dependent on gametophyte?
&+ S0 meld D06 g Dessi, Sodirn Dedties) eornid dotol?

(1) Angiosperms (2) Gymnosperms
esiyis Deren 25y Beres
A3 Bryophya (4) Preridophyta
wETper DBEper
57.  The condition of androecium in cucumis species is of this type
Sptolon ertood BioSd B oo dotad _
(1) Syngenesious \/6 Synandrous
SorE ¥ Pocihogsa Sooleg Tond
(3) Diadelphous {4) Free stamens
Egeoolss 5% TRo=
58.  InLichen the Vegetative propagule is known as
F25e6’ ehob STt S Jom SEeTh
(1) Conidia (2) Apothecium (3) Perithecia
Cadar s haro vEdhatr

39.  'Carrageenan' an algal product is extracted from this plant
'Sirend’ wi Ted dypsin £ Dk e Fom Sabodsed

A1) Chondrus Crispus () Gracillaria
Sogs ¢ 258005

(3) Laminaria (4) Diatoms
e kg Solrtasona

60. Carpospores produced in Polysiphonia are in this condition
SrEpINArd eyt 58350 4 596" dowrow

(1) Haploid (2) Hexaploid
(3) Triploid /& Diploid

Betpdme: choipéees

vl tsidin

abd&atr
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In Penicillium the type of fruiting body is

Talboio otk Jetraltio
{1} Apothecium (2) Ascostroma
_ ed8haho e etsr
/(‘.-11 Cleistothecium (4) Perithecium
Exprote 2ol

Yeast brings about fermentation by the action of this enzyme
ey Srpgisonso T Jofiioo dlos), B0y TR B

A1) Zymase (2) Invertase (3) Peroxidase (4) Catalase
EEES EEsed gl R
Late blight of potato’ is caused by
BT G5 5 Tered B2 Jo Seaittiood
A1) Phytophthora infestans (2) P cactorum
[ B b egel
(3) P palmivora (4) P arecae
Lo S b, 2

The cup-shaped fruiting bodies seen in Peziza are known as

TR Slad £y a0 SeToToil B Mo SIS0

(1) Pycnidium ;é Apothecium (3) Cleistothecium (4) Perithecium
nhfane JGheto Spdtone o8hamo

Corona in the nueule of Chara consists of the following arrangement

sor & srgirgd Soch 38ema: £ 1208 el STA dotuol

(1) 3 Cells in single tier (2} 3 Cells in two tiers
3 Srres &8 Snd’ 3 Seres Bodds Mies'
(3) 5 Cells in two tiers \/417 5 Cells in single tier
5 Srrmn Dot Stssed 5 Srre o8 Seed

[RT.O.
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70.
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Lichen follows this mode of life

E55 S+ 20T £08 GO eRtized
{1) Saprophytic {2) Autotrophic (3) Parasitic A Symbiotic
PreET FEcadf Serineds sl
Fluid-mosaic model of cell membrane was proposed by
(1) Watson and Crick (2) Robertson
TS oo 2K absd
3) Singer and Nicolson (4) Davson and Danielli
Ponh Sobico 8'eyS G55 Sobot 22308
Ribosomes are composed of the following:
BEE a0 54 208 Ui 200 dowrow
(1) DNA and RNA (2) DNA and Proteins
DNA Sobats RNA DNA SoBals el
) RNA and Proteins (4) DNA only
RNA Sobats Srediss DNA Srgilo
In the DNA double helix, Adenine pairs with this
DNA &gs0wsnd’, 2835 806 mostiotood
.,ol’ﬁ- Thymine (2) Cytosine (3) Uracil {4) Guanine
T eSS ot Mg
Which is the initiating codon in the translation process?
e BS dand® eatiesr S haw
(1) AUU A% AUG (3) GUA (4) UGA
Calyptrogen gives rise to this part
05T & el Depciiigeld
(1) Epidermis (2) Conex
e Seyese
(3) Vascular bundles %) Rootcap
TS Doeren o FENG
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74,

75.

76.

BS
17 @
Delicate threads of cytoplasm connecting protoplast of one cell to that of the adjacent cell ane called
0.8 Esioo o), 5 SOgESIL S8 & S0y S 6B eviind’ Sed S SR
pogreis S Do Dol i
(1) Middle lamella (2) Annular thickenings

:.‘ad;:ﬁ-eaﬁﬁ' Secired Sotrns
‘/({] Plasmodesmata (4) Pits
Sedsly ol Rodas

Bulliform cells are present in the leaves of this plant
eoliirSs Seres 4 Dug), dlod), Sipred’ dowron

\/d‘jl Maize (2) Sunflower {3) Mango (4) Betel

ook E Fratl Lt l Sl e

The meristem that produces periderm is called
SOBEoE DEHESs Deres; Sreroy S DI Dot

(1) Apical meristem 1./6} Phellogen
el Jereg Snereiios Body Jere STl
{(3) Intercalary meristem (4) Vascular cambium
Solis deres Srserelio osr Deres Serid

Bicollateral vascular bundles are present in the stem of this plant
Bgiirang s TOT poeres S Baog), dloof, ol Soth ST

(1) Maize (2) Comuon (3) Sunflower Vm" Cucurbita
o B [ ] el G Hasiod

Histogen theory was proposed by

irifes hopotitia 8 36 BOSrRotandsl

(1) Schmidt (2) Nageli \.4'3}/ Hanstein {4) Buvat

mxel Tt ] argied

[RT.O.
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The reaction, where oxygen is evolved by isolated and illuminated chloroplasts even in the absence
of carbondioxide, is known as
T ol 80 30h50ed’, 398 deo Dabeds 00 Sahep Tod B900s Satadsin
e Boscts S0 s o SETEID
‘_/(I'_I Hill reaction (2) Emerson effect
e B0 Soth eras
{3) Carboxylase reaction (4) Photorespiration
soaRdE oG S0l Fyidad
The substrate for photorespiration is
Tod FuRdann Surord Sovgo
{1} Ozxaloacetate (2) Serine
esghd ohded 205
V{fj Glycolate (4) Succinate
aees 4
Plants usually absorb nitrogen in this form

Srortitom Dot e SBedld S Srted” e Ao

(1) Nitrogen gas A2 Nitrates
Hiel) Tobsd pranes

(3) Nitric acid (4) Amino acid
D8 egs e el

The sequence involved in the conversion of lipids to glucose
s Soges ArSRm Sty Sotecd® S 5o

(1) Glycolysis (2) C;Cycle
A C; Seoka
=

(3) CAM pathway \/f"r/] Gluconeogenesis

CAM Sga FrENErEns
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81.  One of the following is not a micronutrient
&1 808 Tl6" wrg, e T00
\4/1'}’ Magnesium {2) Boron (3) Manganese {(4) Zinc
Sofiphpn it SroMde ot
81 Anexample of an unsaturated fatty acid is
eSol S enisuns L ot
(1} Palmitic acid (2) Stearic acid
~RoadE et RODOE et
(3) Moyristic acid ‘/(:; Linolenic acid
LEEE g BFans esose

83.  Which of the following does not function as an electron carrier?
2 fob Tl Jomd TErsiam SU00N0S DAY

A 1o () Coenzyme-Q
H,0 520850

(3) Cytochrome-C (4) Cytochrome-d
BSES-C ES-d

84.  Loss of water in the form of liguid from uninjured margins of leaves is called
oSN JEch soteti:od StrSed” Sl F'Ehhess 4 Do Sasdnt

(1) Transpiration ..A{:': Guttation (3)  Translation {(4) Ewvaporation
e G Doty Erasa e Ang eI
85. Histone proteins are of this type
T Sy e DORD
(1) Acidic ‘,n/ Basic (3) Neutral (4) Univalent
es5a e Besg 2 Shdiradah

[ET.O.
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87.

B2,

9.
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Amino acyl t-RNA synthetase is responsible for
M0 Rd RNA hogld o S5 e S

(1) Formation of Peptide bond (2) Binding of m-RNA to ribosome
WS eode 2guas mRNA % B B58 coloton
A3 Ioining of amino acid and t-RNA (4) Anachment of amino group to organic acid
T esirRy So8ciks t-RNA D faspts TS Sooly ey essiesl Soant
Pigment that plays a role in photomorphogenesis is
ol HErSnas grleste Ipde 3ZEI®
\/t/u Phytochrome (2) Chlorophyll
S ges
(3) Cytochrome (4) Anthocyanin
e esefHands

Both Columells and archesporium develop from endothecium in the sporophyte of this plant
S22, b Deetind” SoDy Sobats S Hercdin, Dodr woBdony dod Jgdoro

(1) Riccia V{'ﬁ; Anthoceros
Byt sof Lo

(3) Marchantia (4) Polytrichum
SO, ouplr Hﬁﬂ)

In peperomia type of embryo sac the endosperm is
15 el S5 DocE¥ané' vointes He DS st

(1) 3n (2) 5n (3) 2n v’f#l‘j On
Cleavage polymembryony is seen in
D650 evebost S0&" £hE08
\/t/l‘ ) Orchids (2) Citrus
el i gl
(3) Mangifera {4) Argemone mexicana

Srefize efRed Dok



91.

93.

95,

21 @

Triploid nuclei are found in the embryo sacs of
Sabeis Sogiticons e 059 bod S¥Sws’ dowrox

(1) Peperomia type (2) Fmae_a type
18 Ny Cits Da S8

(3) Drusatype \/'fi} Fritillaria type
SR e St oEs

Nutritive tissue that nourishes the developing microspores is

efing Dotho BrE; b Desoeia Fots Smmrodin

{1) Epidermis (2) Endothecium \,.-(3/} Tapetum (4) Middle layers
R S50 Do Gt e Sogfy e

How many male gametes does a pollen tube of an angiosperm carry?

ey Bered” Sov TS’ O Srg; Rodio deoes dowron?

(1) 4 (2). 3 \/(33 2 (4) 1

Botanical name of 'Ashwagandha’ is

‘etying' dlog, T el o

{1} Plumbago Zevlanica (2) Rauvolfia serpentina
Sceh’ @ols T Repds

\/é} Withania somnifera (4) Phyllanthus amarus

2o oo Do’ ere®

Rosewood is derived from this plant

S'EpE o Dos), So00) oiizod

(1) Prerocarpus santalinus ./(2/}‘ Dalbergia larifolia
JE'E botin’ e cdPborr

(3) Tectona grandis (4) Terminalia catapa
5% rodb S830at 3u

[RT.O.
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i
Cinnamomum zeylamicum is a plant which yields the spice
RS Bonel Sood H Mool o ozl
(1) Cloves (2) Cardamom
edems Deies
(3) Ginger _A&) Cinnamon
wgo s D
Endemic plants are those
ALl s o
1) Cosmopolitan in distribution \/6; Restricted to certain area
Sgrges 5 ool 302880
{3) Gregarious in habit (4) Found only in Arctic region
TommabEaT #250 et 38 BOROG, S efizon
A study of individual species in relation to the environment is called
£ erdd 28RS Mo Sonotr) Sihaiso Dokt gUr soLrD
(1) Synecology v(ﬁ Autecology
R S50 THO S ete 50
(3) Biome ecology (4) Population ecology
odird uite TEo e eilins R0
A graphic representation of function at successive rophic levels in an ecosystem is called
eitim 5560 o8 Sok SergSom Ardeils elup il Mibiod) 3o sord
(1) Food chain (2) Biome
el eoiss edlrd
(3) Food web \Afi‘ Ecological pyramid
GRS solbvpolid ereiia eSSn Bowed DG
Grass lands with scattered trees are called
SySaes Deend dot STHEROLEN REr wowrt
Vd} Savannahs (2) Rain forests
R DTS ederyoo
(3) Ewvergreen forests (4) Deciduous forests

Pz



:

ZOOLOGY
{Marks : 50)
101. Tunicin is present in which organism?
= 0 Bods amting gesn
{1} Stylaster {2} Sea horse
e G
A Sea squins (4) Silver fish
b2, hegh 35

102. Trichonympha, a flagellate protozoan helps in the digestion of which substance?
50, o srgonos S'ERE D sood dio Sataed’ Hgtod?

(1) Starch (2) Glucose
Sed BogE gsE
D Cellulose (4) Sucrose
hess's RS
103. Which is the power house of the cell?
S8 S dag, d5yTic?
(1) Endoplasmic Reticulum® v’fﬂ- Mitochondria
wofS EHereds tSTodclr
. (3) Golgi complex {4) Nucleus
o dogEres Sogto
104. Identify the shortest phase of cell cycle
ool el Bty Slocho DS G 0et0d
(1) G2 - phase (2) Gl - phase
G2-o% Gl -4
(3) § - Phase \/tff M - Phase
§- 5% M - 5%

[BT.O.
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105. Class Thaliacea' belongs to subphylum.
bl Jerriic e Sod 455008 BelRa

A1) Urochordata (2) Cephalochordata
c'sger P
@) Hemichordsta (4) Craniata
s : Eacker

106. Hylambates female takes care of eggs until they hawch by carrying them infon.
st Treredde:l rods SNES0H TD B4 Do Sodiiged

(1) Under surface of the belly {(2) Separate pouch
A5 otisis BB Moted dota
@) Buccal cavity (4) Their back in skin fold
esieiliintiod’ dodaiy Speodt Sto SaSHS" dotum

107. Jacobson organ in vertebrates is concemmed with

(it gy
(3) Touch {(4) Vision
e S

108. Identify the chemosynthetic bacteria that converts ammonia into nitrates in nitrogen cycle.
Speh Seobod® elmdatrs BT Sty S Sofl wraboiri MEotun

(1) Anabena (2) Nostoc

DS s
\,{‘3‘:}1 Nitrosomonas {4) Calothrix
SesE oS sies
109, In Calotes, candal vein is joined with

Foud' Sy ho A0 gessizod

(1) Sciatic vein ,/(’2’; Pelvic vein
Stz By &'ed b

(3) Post caval (4) Renal vein

Sl e s s
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110. Deciduous teeth are present in which animal?
2 £ Soth D5 Sob Do Sud?
(1) Man | 2)
=IRG
(3) Fish (4)
A

111.  One of the following is an example of steroid hormone.
4 208 T8 ool 8l driros
(1) Insulin (2)
nka
(3) Glucagon \/(f].
s
112. The valve between left atrium and left ventricle
D50 0 SoBics DS el Kk &t ST

1) Mitral valve (2)
Sl Sian

{3) Aortic valve (4)
Siontie

Thyroxine
e

Testosterone

ThoS

Pulmonary valve
by ghalio gy BT
Tricuspid valve
S e

113.  Increased Pco, and decreased pH shifts the oxygen equilibrium curve towards the right side. This

is called

L8RS Peo, S8t BAAS pH o, sdnd st holst LABHIO dptocd. A DD bad

(1) Chloride shift (2)

£ osse
3) Bohr effect (4)
&5 porsie
114. 'Which animal has positive phototaxis?

o dldos: gartks o8 Sede Sod?

(1) Cockroach (2)
S'8cE

(3) Planaria @

(2]

Hamberger phenomenon

oagh Siate
Haldane effect

g5 garse

Earthworm
ey~ L

Euglena

[RT.O.
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26

One of the following chemicals is the principal inhibitory neurotransmitter
B @08 oratTed’ vt Bos MgE Tl edoirte

(1) Acetylcholine (2) Dopamine
shEdEhs S5
{3) Serotonin 4) Gamma amino butyric acid
wEGRE rareliee 1ok ecico
116. Alternation of generation is present in which of the following?
52 108 oS Aoty Dsrolith B0o Sud?
(1) Apteryx vf:’.{ Salpa
0D 72
(3) Sparrow (4) Seymouria
e LSO
117, Which are the crossopterygii fishes that have internal nares?
D Earytd 3 Soth woliomhs Sophes Ea?
(1) Coelacanths (2) Dipnoi
Lol E3mol
{3) Lissamphibia (4) Rhipidistians
Bryebbor abahorss;
118. One of the following characters is absent in Phytomastigophora:
PTErRA Soth S 308 oo S 1oN8
(1) Reproduction by gamates (2) Chromatophores are present
e fere oy BHOTG E'soeTE, 2Bh dotoe
(3) Presence of holophytic nutrition A Absence of red eye spot
oo 2550 5D &ochl ) Zoe Hog), 5 hotod
119. Preen gland produces
ﬁ o &g Bousd
1) Oil (2) Antibiotics
Do cirotiandireds,
(3) Sak (4) Pheromone

eieaa a5t

)z



120.  Which animal belongs 1o class Anthozoa?

D 80 Jo8'E =D Bohsar

) clavularia (2)
E‘.‘J}E"\ﬂﬂﬂ‘

(3) charybdea (3)
sadalr

121. Urea cycle is also called as
Shrbalr Soclry $ Jgom e Do

aurelia

clava

(1) Kreb's cycle \fé} Kreb's-Hanseleit cycle
Beh, Sealo Bef -1 Be T Soato

(3) Citric acid cvcle (2) Glycolysis
2535 eaxgy Seaio eEns

122, One of the following is known as 'Suicide bags'

S+ 208 38" 341D ‘et Sotons’ M beadnds

{1} Mitochondria (2) Ribosomes

(3) Centrosomes . _AB) Lysosomes
Tou s S B Sn

123. Distribution of organisms in a small and restricted area on the earth is known as
§o 1N e £ Sobain O promred’ Jahed dipe JRted £ Do beadnt:

(1) Parallel distribution (2)
BSPols Dt
A} Endemism (4}
D356 Degties

Continuous distribution
SO0 J50e
Discontinuous distribution
eaCoBd JRtie

[ET.O.



124. Patau syndrome is due to
SuT hoS 52 5o

A1) Trisomy 13
£¥013

(3) Trisomy 23

@23

125, Exchange of genes between two populations is called as
mmmﬁiwm.ﬁmﬁww

(1) Mutaticn

(3) Excretion

i

127. Green glands are the excretory organs in
B0t 8 Jlotos JSGE s

{1) Himdinaria
TS

v()!{ Branchipus

grodsh

(2)

(4)

(2)

(4)

(2)

4

(2)

(4)

Monosomy 23
AT 23

Trisomy 21

23 21

Genetic drift

85 &3
Nop-random maning
S SER0R RS

Olfactory

Swimming

Trilobite
foads
Polygordius
FOrRoEs

128. Muller larva is present in the organisms that belong to class

1 D Dol diyes’ Sxed Sogtio &00

) Turbellaria
Bl
(3) Cephalopoda
i

(2)

{4)

Mitizood
DoBobinG

Crinoidea

@‘mx’-‘-ni?



129.

130.

131.

132,

133,

. A
Anastamosing blood vessels net is the characteristic feature of
85 7o o 5800 dodixt: B8 Buwy; e
) Herdamania (2) Rana
L"&Eﬁ}bo:l? o
(3) Myxine {4) Hirudinea
iS5 AN
What is the basic chemical nature of trichnin?
(2555 s, Sore O2allE oo Doel?
(1) Starch (2) Lipid
Sodsogses Sy Sogses
ﬁ Proteins (4) Vitamin
Srcisyices: Do
Laurer's canal is associated with
o0h ey A02 SoroBolisd
(1) Viwelline duct (2) Cirrus sac
S0E TV e 5%
() Yolk reservoir % Copulatory tube
S Eoke Syogrte
The type of egg with small amount of yolk
~pe SOSPrd P9 Sorgies SBA & eodtn
(1) Alecithal .,1() Oligolecithal
besg olre eiffahed
(3) Telolecithal ' (4) Macrolecithal
Sysbig spcbay
In the life cycle of which animals, trochophore larval stage is present?
2 E5he 08 SEed’ 56 Soo 0¥ Snca?
(1) Trematodes (2) Anurans
G TS
) Gastropods (4} Rhynchocephalians
ey BeE Yot

[RT.O,



134. Beri-Beri is due to deficiency of

135.

136.

D5-50 A0 e Sen Soorbhdood

JesS B,

(3) Vitamin B, (4)
Dol By

What is the shape of stone canal of Asterias? 2

w%mmﬁmM?

{1} U -shape (2)
U -easio

{3} Y - shape s/ﬁ"}'

Y - esoriia

Lampbrush chromosomes were discovered by
el @5 (Sos) ERrE oo By oW

(1) Balbiani )
P

(3) Winchester (4)
3-'53#5

137. Bharatpur Sanctuary is the host of

esdisrh wgicirtong S eddie owised

vél Birds (2)

oo
(3) Golden Lizard (4)
momdy el

Vitamin B,
b B,

Vitamin B,
5628 By

Z - shape
Z - esio

S - shape
S -uso

Ruckert

Hofmeister

Lions

Rhinoceros
a5 Sy
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138. In man, the genes responsible for colour blindness are located on

mﬁm@mﬁw&nhﬁm

(1} Y - Chromosome ‘/é X - Chromosome
Y-&arEs X 8285

(3) Both X and Y Chromosomes {4) Plasmids
X Stk ¥ §arstise: sy

139.  'Which pollutant has more biomagnification property?
S ek SODE e £S5 wbittn oo Soi?

(1) Methyl Isocyanate G ppr
IRE RS &

(3) Ammonia (4) Carbondioxide
Rty s Aargs

140. The delta cells of Islets of Langerhans secrete which hormone?
ool Iy Selso By Lepen D G0N Elolsren?

(1) Glucagon (2) Insulin
"Ems 505

./6:; Somatostatin {4) Adrenaline
oSS oS

141. Layers of necre are secreted by Pearl Oyster as a part of
SOGHCE" TmEalh Srtes 808 riiom @Edotindhi

(1) Host Protection (2) Excretion
edhak OEn DRERE
(3) Supporting the reproduction of Parasite (4) Respiration

[RT.O,



142. An example of macro evolution

238" sferirtd e¥ arnOn
Al Horse (2) Monkey
riezioo 50
(3) Lion (4) Donkey
o e
143, Botryoidal tissue is present in
Aot i wrondd Snwroe &40
(1) Cockroach (2) Sycon
) e
v{’.ﬁ Leech (4) Asterias
BN Dh8erh
144. A group of individuals of a particular species occupying a particular area at a specific time constitute
e¥ 055 ($B9o8 DhtTrecd’ L8 DG D ST MEeY
(1) Synecology (2) Community
= el maiooTrolERa
Jﬁ/ Population (4) Density
==y o
145. Which animal has an orange-red coloured hepatopancreas?
5 06 arbos-Je Sorh Mo Tile &RHAY
(1) Snai A Prawn
=g ety
(3) Lizard (4) Man
b S
(146,) The function of allamtois is
W&h‘.’i\. dlogh, 25
{1} Protection . {2) Respiration
wysdas
(3) Excretion {4) Nutrition

e S



147.  In which animal, suckers are present on arms?
= £ Hodh gherel sotd DFes dotron?

(1) Toad
Y-ttty

(3) Lizard
=l

RE]

148. One of the following has zonary placenta
4 2ol TelS Srosly soratoi DA &58

ﬁ Dog
=5,

{3) Rabbit
ooy

(2)

(Z)

(4)

Pig
ey

Sheep
e

149. The relationship in which one organism is benefitted and the other organism is not harmed is called
o8 ddd ademitio SR, 3058 £D4 aisdo Sn0vD popriy Dind besdnnn

(1) Symbiosis
Serdsasa

\/{{]Cnmmmm:'.m

R s

150. An example of pleiotropism

(2)

(4)

Parasitism
:.*afzgg:.s:s:m
Mutualism

E oy et

Rh-factor
Eh-mrosies

Colour Blindness
o S0





